
Whitman College



Econ 328



Exam 1


September 25, 2007

Write all answers in your bluebook.  Show all of your work.  The exam ends at 11:55.

1.  Consider the following situation.   Two players simultaneously and independently choose between heads or tails.  If their choices do not match, then Player 1 gives 25 cents to Player 2, and the games ends.  If they both choose tails, then Player 2 gives one dollar to Player 1, and the game ends.  If they both choose heads, then they go on to again simultaneously and independently choose between heads or tails.  After this second stage, the game ends.  If in the second stage, their choices do not match, then Player 1 gives 50 cents to Player 2.  If in the second stage, the choices do match, then Player 2 gives 75 cents to Player 1. Assume that the players’ utilities depend only on their monetary payoffs.

(a) (20pts)  Draw the game tree for this situation.  Be sure to label who plays at each decision node, what action each branch represents, and the payoff profiles at each terminal node. 

(b)  (10pts)  Is this a game of perfect information or imperfect information?  Explain how you can tell.

(c)  (5pts) List the strategies in S1, the strategy set for player 1.
(d)  (5pts) List the strategies in S2, the strategy set for player 2.
(e)  (5pts)  Draw the normal form matrix for this game.

2.  Consider Game 1 below.

Game 1

	                                          Player 2

	
	
	L
	M
	R

	
	T
	6, 10
	5, 4
	1, 2

	Player 1
	I
	4, 3
	2, 2
	1, 3

	
	B
	3, 9
	4, 5
	1, 2


(a)  (10pts)  List all dominated strategies, and explain what strategy dominates each.  

(b)  (5pts)  List all the Pareto Efficient outcomes of the game.

(c) (5pts)  What is u1(1, 2), for 1=(1/2, 0, 1/2) and 2=(1/4, 0, 3/4)?
3.  Consider Game 2 below.

Game 2

	                                          Player 2

	
	
	F
	C
	B
	R

	
	U
	3, 7
	4, 4
	5, 11
	2, 2

	Player 1
	S
	4, 7
	5, 10
	6, 1
	1, 9

	
	D
	2, 6
	3, 10
	4, 1
	5, 7


(a)  (10pts)  List all dominated strategies, and explain what strategy dominates each.  

(b)  (5pts)  List all the Pareto Efficient outcomes of the game.

(c) (5pts)  What is u2(D, B) ?
4. Consider a two-player game in which S1 = {T, M, B} and S2 = {L, C, R}.    

(a) (5pts)   Finish the following mathematical expression.

If strategy L is dominated by R in this game, then u2(s1, L) <
(b) (5pts)   Finish the following mathematical expression.

If strategy T is dominated by M in this game, then u1(T, s2) <
5. (5pts)    Game theory assumes that players act rationally.  What does acting rationally mean in game theory?
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